CHE 304

HW # 5

[image: image1.png]RZIE
a//) 4:7 = dops—~o

= =g.g0ls"
P78, oo 7

Z
Qasrs= /‘f"”/( love

er/f!}'ﬁft) 09985

rs
= 2,27
2J5,8

2= 27X g o)
=002 m = Liewm




[image: image2.png]2717
This woald Be s€ mi-mfinite
medimn.
Lps e doa=0l - gs24
Was =y, 00300

erf(d)= a5





[image: image3.png]- Z
= Iy
@'ﬂé)él«)ﬁyﬁ’“’jrn%
= 9Fr st
= %76 x18"s




[image: image4.png]N
5

71

25 Jbo

R=Foo By 31 erf2)]
20+ S5 erf(g)]

erilg) = f’f(y

w
SEY

—/—‘fr/(‘w——o«

\

= erf (2(/67 i %»fj{jwoas)

= erf (777)




[image: image5.png]Z im)

%7

erf (8)

a
|-erfd).

0.0
0.0%7
4. 0735
0,047
a. 2308
4,294
0.37

00
0.025"
665
¥
0.45
a.20
.45

2441

o 30

2.0

0.4252
0.0564

0, 1125
0, (684
g. 2027
4o 2763

700
87778

g, 975
0, §720
57773
(A TRET

49434 | £

0.3286

1679




[image: image6.png]2r.a]

., & . _Caz
-y, Rendfiy B
Wy, Lae.  _Sps

A e S me:
= Gzl spein 0.4,

o~ s 350 /2

m=0
Fg A7, Xp= 029= Hhot e




[image: image7.png]t =298 _p,29(a0254m) N
Las 13x 0 m‘/s





